
Handout: The Rule of Three
Problem should have one to three variations.
1 My problem is …
2 My problem says …
3 My problem sounds like …
Neutral point should have three to five variations.
1 A neutral place for me is …
2 A neutral space for me is …
3 A neutral action for me is …
4 A neutral activity for me is …
5 A neutral location for me is …
Solution should have five levels (5TP) of success.
1 Good or acceptable solution:
2 Better or favorable solution:
3 Improved or excellent solution:
4 Superior or exceptional solution:
5 Best or perfect solution:
• For more information, please read Mind-Moving (M-M).

• For more information on 5TP, please read Discovery Demands 5TP.
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